Sl. No. – site bills register	20	)		Date Regis	- site ster	bills	21-1	9-202
Company Name:	MRO	1-11					BRO	3V
Name of Contractor	T. Kin	manna					0	11
Nature of work	MR ( T. Kur Floor	0.0	pin	90	NO	Just	ch:flo	ng.
Work done	From Dat	te	21-	N -2	02	To Date	15-	~g. 12-2021
Sl. Villa/Flat/block no	o. Qty.		Rate		Units			Contractors bill no
1. floor chippine	1. 48	00	3.	ØD		14	400.00	
2. Dust shifte		60	8.2	25		10,	200.00	
3. Vitgefied Til	0	)· 0	0			0.00		
4. shefting								
5Teles shifting 7.00 250 1750.00								
6. for Bathroom	.0			6				
· Otility Tily	3.	00	15	0		4	50.00	
8. Shitting								
9. 0								
10.								
	otal:			COT	h:11		520.00	
Bill required	YES [				bill red	-	□ YES □	
Measurement & estimate sheet:	Require				ureme ate she		Enclos	
estimate sheet: $\Box$ Not requiredestimate sheet: $\Box$ Not enclPO/WO no.PO/WO date:					leiosed			
Remarks :								
							1.1	MD
Approved by Project Ma	anager	Appro	ved b	y Desi	gn Tea		proved by	M.D.
Date: 21/10/2		Date:				Da		
Sign: Multin		Sign:				Sig	n:	

## Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

	Company Name:	MRGV				Annroved	ad by:		
Project:		BRGV				Sign:			
<b>fork</b> De	Work Description:	Floor chipping & Dust shifting for flooring							
Prepared By	d By	T.Madhu							
ontrac	Contractor Name:	T Kurmanna							
Date:		21.12.21							
			A	Ø	c	D	E=AxBxCxD	п	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
	BRGV	Model flats & club house							
	.,101,102,103,120,121,122	Floor chipping for Vitrified tiles	800.00	1.00	1.00	6.00	4800.00	Sft	
2	.,101,102,103,120,121,122	Dust shifting for flooring 1st floor	800.00	1.00	1.00	6.00	4800.00	Sft	
	BRGV	Model flats & club house							
ω	.,101,102,103,120,121,122	Vitrified tiles shifting @ 65% SUBA 800 sft	520.00	1.00	1.00	6.00	3120.00	Sft	
4		Tiles shifting for bathroom	1.00	1.00	1.00	7.00	7.00	Nos	
				1.00	1.00	3.00	3 00	Noe	

.

ESTIMAT	ESTIMATE SHEET						
Company Name:	y Name:	MRGV			Approved by:	y:	
Project:		BRGV			Sign:		
Work De	Work Description:	Floor chipping & Dust shifting for flooring	BL				
Prepared By	By	T.Madhu					
Contract	Contractor Name:	T Kurmanna					
Date:		21.12.21					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
	BRGV						
1	.,101,102,103,120,121,122	Floor chipping for Vitrified tiles	4800.00	sft	3.00	14400.00	
2	.,101,102,103,120,121,122	Dust shifting for flooring 1st floor	4800.00	sft	2.25	10800.00	
	BRGV	Model flats & club house					
ω	.,101,102,103,120,121,122	Vitrified tiles shifting @ 65% SUBA 800 sf	3120.00	Sft	1.00	3120.00	
4		Tiles shifting for bathroom	7.00	Nos	250.00	1750.00	
		Utility tiles shifting	3.00	Nos	150.00	450.00	
	Grand total:-						30520.00
	Amount in words:- Thirty the	Amount in words:- Thirty thousand five hundred and twenty rupees only.	only.				

## **Bill for Equipment Allowance**

T Kurmanna Mallapur, secunderabad.

Date: 21-12-2021

In favor of:	MRGV
<b>Project / Site:</b>	BRGV
Location:	Muraharipally

.

•

Type of Work:Earth workTowards:Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Floor	
	chipping and dust shifting, tiles shifting model flats.	Rs 12208 /-
	Total Amount = $30520/-$	
	Work done from date 21.11.2021 to 15.12.2021	

Amount in words: Twelve thousand two hundred and eight rupees only.

Sign: \_\_\_\_\_

## **Allowance for Consumables**

## T Kurmanna Mallapur, secunderabad.

Date 21-12-2021

In favor of:	MRGV
Project / Site:	BRGV
Location:	Muraharipally

Type of Work:Earth workTowards:Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Floor	
	chipping and dust shifting, tiles shifting model flats.	Rs.6104 /-
	Total Amount = $30520/-$	
	Work done from date 21.11.2021 to 15.12.2021	

Amount in words: Six thousand one hundred and four rupees only.

Sign: \_\_\_\_\_

Bill for Labour Charges

T Kurmanna Mallapur, secunderabad.

Date: 21-12-2021

In favor of:	MRGV
<b>Project / Site:</b>	BRGV
Location:	Muraharipally

Type of Work:Earth workTowards:Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Floor	
	chipping and dust shifting, tiles shifting model flats.	Rs 12208/-
	Total Amount = $30520/-$	
	Work done from date 21.11.2021 to 15.12.2021	

Amount in words: Twelve thousand two hundred and eight rupees only.

Sign: \_\_\_\_\_